
V-132566-06
16/02/64
REV:00

10 mm. 

Install the side aluminum tracks to the 
metal plates both LH and RH and the
rear then tighten them.

Lift the SLIDE FLOOR up on to the vehicle’s 
truckbed and adjust it to the center between
wheel arch. (Make sure tailgate can close and
the gap between slide floor's handle and the
inner pamel of pick up's tailgate is 10 mm.
before drilling.) 

PARTS

1/2

ASSEMBLE SLIDE FLOOR KIT

UNIVERSAL SLIDE FLOOR

C- 132566-00
18/12/60
REV:03

10 mm. 

A BInstall the side aluminum tracks to the metal 
plates both LH and RH and the rear then 
tighten them.

   Lift the SLIDE FLOOR up on to the vehicle’s truckbed
   and adjust it to the center between wheel arch.
   (Make sure tailgate can close and the gap between 
   slide floor's handle and the inner pamel of pick up's 
   tailgate is 10 mm. before drilling.) 

M8 SUS Nut 12 pcs. 

PART

M8 Single bolt plate 6 pcs. Washer 12 pcs. Spring Washer 6 pcs.  Foam Washer 6 pcs. Plastic Hook 8 pcs. M6 Insert manual 4 pcs. Installation CB-788 1 pc.Check Sheet CB-788 1 set.

..........

..........
..........

..........

CB-788

1/2

Assemble SLIDE FLOOR kit

UNIVERSAL SLIDE FLOOR

CARRYBOY

1010

1111

1 2 3

7 8

4

9

A B

Nut lock 12 pcs.Bolt M8x40 6 pcs. Washer 12 pcs. Foam Washer 6 pcs. Plastic Hook 8 pcs. M6 Insert Manual 4 pcs.

Installation CB-788 1 set.Check Sheet CB-788 1 pc.

Plate Bracket 6 pcs.

INSTALLATION MANUAL

7

6

1

8 9

2 3 4 5 6 7



Install the bolt plate follwing the picture below.D

E Then, tighten the nut set to lock the slide floor set (6 positions).

F Check and test your slide floor set after putting
it thru the fixed bolts until it silding properly.

C Mark and drill mounting holes.
- After getting the proper position for slide floor, move the
  Aluminum floor out but keep the metal base frame fixed.
- Mark holes thru available holes on metal base frame.

Carefully choosing a hole that fit to your truck bed.
- Move the metal base frame out and drill the holes on

mark positions by holesaw O 10 mm.

*Always use the lower profile of truck bed as a platform to hold the SLIDE FOOR set.

REMARK : 3 levels of the sliding can be pulled with
              the handle.

TOP
BOTTOM

10 NM.

2/2 UNIVERSAL SLIDE FLOORINSTALLATION MANUAL

V-132566-06
16/02/64
REV:00

ISUZU RT50
CHEVROLET COLORADO TOYOTA VIGO CHAMP

VOLKSWAGEN AMAROK

FORD RANGER T6
MAZDA BT-50 PRO

7

2

3
5

3
4

1


	PB-788-00 REV-00 1
	PB-788-00 REV-00 2.pdf

